Algebra 2 Regional January
Question 1)  Find the positive value for , if: |

v =y12-y12-12-12-..

Y= x\/8+x\/8+xm

Question2)  Find the simplest form for the followiné expression
for all values of x which the expression is defined.

x2+3x+2.- x> —25x .2x2—3x—2;2x2_+'5x%2
X2—x-2 x*-2x-35 x*-5x  x*-49

Question 3)  Find the sum of the slopes of the asymptote lines for the K
following conic section: 7x> —6y* —28x—84y—308=0"

Question 4 ) Find the value of u.f.:
log;(x+5)+log;(x=2)=1log; 18
216y — xlOy—l2 r

o [2x-4y+3z=3
Question 5 ) Using Cramer's Rule, find B'E" for the following system: 4 Sx —z + 2 y= 4
Y 4x——3y+2z.=5 :

Question 6 ) Let the equation of the conic section with the center (-7,2), =~
minor axis of length 6 and parallel to the x-axis, and an eccentricity with L

o 0,

the ratio of one over two be defined as 5

a R
Find the product of ‘(h+k)(a+m), where m is the distance between the foci. -

Question 7 ) Let A, B, and C represent three consecutive terms for the expansion - -

of (2x - y)12 ,respectively. B8 is the middle term of the expansion. Find the
sum of the coefficients fo_r these three terms.

Question8) Let f(x)=3x"" —7x" +6x—14.
Find (A+ B+ C+D) inlowest terms, if:
A = The sum of the real roots of f(x). . .. .. ... .
B = The sum of all roots of f(x).
C = The product of all of the roots of f(x).
D = The greatest positive real selution of f(x).



|
Question 9 ) Simplify the following and express cLs one fraction
with positive exPone.m‘s where X,3,&z # 0.

4
2x%y 4x7° yz5 [ 3xyz| | J -
3xy* ) \Sxp'z7* 4x7°2 ,
(x - 4) y g( ) x (y -+ 3)
16 : _ 20

fx)=g()=1. Find(ms)(cio),.f

A = The y coordinate of a focus of f(x).

B = The length of the conjugate axis of g(x).

C = The focal length of g(x). |

D = The sum of the x coordinates of the endpom?s of the . ..

minor axis of f(x). . | '

Que.sﬁon 10) Let f(x) =

Que&ﬁon 11) Solve for all values for x which make the following inequality true: .

4-x
2+x

>5x-3. Answér must be given in interval notation (See below). “

Ex: If 9 ‘« y < 11, then the answer for y would be (9, 11 ).
Question 12 ) Let 4x-3y=5 be line MAO: |
FindA+B+C+D, roundeL:l to the nearest hundhedfhs if:
A = The slope of MAO,
B = The y-intercept of a line which is par'éllld To "MAO and con'rams the
point (In2,5 ). 3 | .
C = The y-intercept of MAO I

D = The y-intercept of a line per'pendlcuiar' to MAO that con'rams the

point (ﬂ' e) } |
Question 13 ) A circle has points (4,3 ), (6, -5).and (6,3 )as points on the circle.
The equation of the line tangent to the circle at the point (4, 3 ) can be
put in the form of Ax+ By C,where A, B, and C are m'regers
Find the ratio of C over B, ‘ .
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Question 14 ) Find the area of a triangle containing these 3 points,
(1,2).(-3,4).and (6,8).

\

Question 15} Find —— , if: \

CD J‘ R

A = The largest of the 3 consecutive pesitive even integers which =~ ="
together have a sum of 6006,

B = The number of digits in the product clf
C= The sum of all of the solutions of: |

7x29% _14028x°°" —2003x +2004=0.
D= The number of positive integral factors of 120,

32003 .42004.. e T






